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Topic:- Nutrition and Health

1) Whooping cough is caused by bacterium:/ STt Wil ATH® SHG1Y] & SR §idl §
1. Bordetella mycobacterium/ STaca HTad IS ad

2. Bordetella bronchiseptica/mm

3. Bordetella parapertussis / STecal TRTICRIY

4. Bordetella pertussis/ a‘l@‘,%wuaﬂm

Correct Answer :-

. Bordetella pertussis/ Srecal USRI

2) An infectious disease caused by the Mycobacterium tuberculosis is:/ AR TN SERHATIT ATHE SHATY] F BT
B 9T U HHTHS I §-

1. Diphtheria/ fewiifean

2. Tuberculosis/ &3 T (CIERPeN )
3. Tetanus/ feeTd

4. Chickenpox/ EELD

Correct Answer :-

« Tuberculosis/ &3 I (CERF AN)

3) The Niacin requirements of pre-school children recommended by ICMR-2010 expert Group range from:/ ICMR-2010

forwy wE o1 wd-fererd) =it *q orgeifta FaRA Y emazgear . S ddd :
1.8.0 to 11.0 mg/day/ 8.0 ¥ 11.0 fiEnfea

2.4.0 to 6.0 mg/day/ 4.0 ¢.0 fiEnfea

3. 1.8 to 2.0 mg/day/ 1.8 ¥ 2.0 foEn/fea

4. 0.5 to 1.2 mg/day/ 0.59 1.2 e

Correct Answer :-

« 8.0 to 11.0 mg/day/ 8.0 9 11.0 feRmfea

4) Stunting is defined as:/ IERNY EEM A FwuH ufeyrfya forar smar @:

1. Extremely low height for age/ mﬁ%@@f WWEWF&F

2. Extremely low weight for age/ a{rqaﬁ‘d@@t I HH HR

3. Extremely low weight for height/ WI’Q‘E)‘TE@@ < PH HR

4. Low weight for height/ TS @1 2P ¥ HH YR

Correct Answer :-

« Extremely low height for age/ 3{@&’)‘1%@@ WWE‘WI’{

5) Which programme had been launched on 12th April 20052/ 12 30 2005 $I BI--TT HTAGH ARV AT UT?
1. NUHM

2. NRHM



3. ICDS
4. WHO

Correct Answer :-

« NRHM

6) Energy needs during pregnancy increase because of the additional energy required for the:/ Tyfar %fﬂ'ﬁm‘fiﬁ
SATAYHAT 9¢ ATd! § FfPH ¥ fore sifafvaa Sof arfge gt &:

1. Growth and physical activity of the foetus/ T R %1 3fg vd wifees nfafafy
2. Growth of placenta/ AT &1 3G

3. Normal increase in maternal body size/ Tl & IR & MHR H AH gl

4. All of the above/ Iudad Tuft

Correct Answer :-

« All of the above/ Iuad Tt

7) Iron supplementation along with helps to cure anaemia:/ %mu-mu?ﬁ?aqﬁﬁmmmwff
Tag frerdt 8:

1. Thiamine/ YAt

2. Folic acid/ Hifdd® 3d
3. Riboflavin/ mﬁ?
4. Choline/ ®ifeH

Correct Answer :-

« Folic acid/ Wifeie 3

8) Protein energy malnutrition in children occurs due to:/ ﬁﬁﬁu’ra——r-mrfgchw_%mam%:
1. Poverty/ fdar

2. Ignorance of weaning/ G¥ S &1 3HdgaH]

3. Chronic infections/ SiHeTieie ThA

4. All of the above/ SuRIa Ft

Correct Answer :-

« All of the above/ IWRiad Tt

9) Which of following is not an airborne disease is:/ Wﬁﬁ?@ﬁ@-ﬂ%ﬂﬁﬂﬂﬁ%‘?
1. Chickenpox/ EEC

2. Malaria/ qaiRkar

3. Influenza/ SORIEST

4. Anthrax/ W

Correct Answer :-

« Malaria/ Faifan

10) Insufficient food intake could be due to:/ 3UaTW WIE =NIEU P PRI &l Joball 8:
1. Poor meal planning/ UISH B BRI o

2. Missed meals/ lﬁﬁﬂmﬁ

3. Poor health practices/ TTRH &I WRIS ATedl

4. All of the above/ JURIe T+

Correct Answer :-



« All of the above/ IWRiad Tt

11) The period of transition from childhood to adulthood is called:/ STEITARIT ¥ TURGBTIRIT W AHAU P 3@y d Ped &
1. Middle age/ H¥] 93:

2. 0ld age/ J&Ia=IT

3. Adolescence/ IERURLE

4. Preschoolers/ gd-faemerft

Correct Answer :-
« Adolescence/ fFRIR aT:

12) Which of the following vaccine is not covered under Universal Immunization Programme?/ g & @ o9 @t 3=
Frd e St STdHH S ded W T8 82

1. OPV
2. BCG
3. DPT
4.1IDD
Correct Answer :-

- IDD

13) The protein in raw egg whites that binds biotin, preventing it’s absorption is called: /%= 38 ! Tbdl # IufRE WA,
Y FraifeT A SMafRIa gieR SUP AIRNYUT Y I T B, Peardl 8

1. Avidin/ Tfaf&

2. Biocytin/ STMERRT

3. Carboxylation/ FISRIBRT
4. Biotinidase/ SRS SH

Correct Answer :-

« Avidin/ Tfafsa

14) Which of the following should not be included in the diet of pregnant woman?/ Tad! afgen & emeR d 379 I 5
i A8t fooar s arfge?

1. Protein/ WA

2. Carbohydrate/ EFIET’{!E@E
3. Smoking/ YguId

4. Vitamins/ faerfim

Correct Answer :-

» Smoking/ YguId

15) Lactose is present only in:/ maﬁﬁ_ﬁmﬁmﬁz
1. Milk/ g4

2. Cereals/ 3N

3. Fruits/ ®d

4. Vegetables/ gfesrat

Correct Answer :-

. Milk/ g4



Maternal iodine deficiency is associated with the following complications in the infant:/ mﬁarrtﬂéha%’rmﬁ, quTd
R d 390 | fopw wfeqar @ T=fRe 82

1. Neurological cretinism/ dfie g FHeldl (@H-an)

2. Increased prenatal mortality/ Wqﬁwﬁq@
3. All of the above/ JURIa THt

4. Congenital abnormalities/ SHSITd SHIAY

Correct Answer :-

« All of the above/ SuRiad Tt

17) Janani Suraksha Yojana (JSY) aims to reduce: / Txl'vl'-ﬂﬁ?&l‘fﬂ’lﬂ JSY) WH&H_B%EIE‘HT%:
1. Both of above/ IWRIad G

2. Neo-Natal Deaths/ Tasird fRIg3f &1 g

3. Maternal Deaths/ HIq g

4. None of these/ 370 ¥ ®I3 g

Correct Answer :-

« Both of above/ JWRI&d &Ml

18) The physiological fuel value of protein is:/ W& BT IRWRFHATHS SUT A &:
1. 4.0 Kcal/4.0 fraisand

2. 4.80 Kcal/4.80 fraidrensy

3. 5.65 Kcal/5.65 fraiaan

4.9.45 Kcal/9.45 fraiarandy

Correct Answer :-

« 4.0 Kcal/4.0 fpaipant

19) Protein present in egg is known a:/ Gﬁﬁ@@ﬁﬁﬂ?ﬂﬁ_ﬁrmi
1. Complete protein/ Tuf T

2. Incomplete protein/ Wmﬂq

3. Partially complete protein/ 3% 0 3 gof 0id=

4. None of the above/ IWRIad & § H13 g1

Correct Answer :-

« Complete protein/ Tvyuf Ui

20) Ascorbic acid deficiency causes the disease:/ RGP AP FHM A ATHS IV AT &
1. Scurvy/ P

2. BeriBeri/ ERIED]]

3. Night Blindness/ e

4. Pellagra/ e

Correct Answer :-

. Scurvy/?ﬁv_cﬁ

21) Solid food first time added to an infant’s diet is called:/ TauiTd fIY] & MER A UGS TR TS T ST HioH Bt Ped
1. Colostrum/ W1y (F1aReH)

2. Beikost/ 9Z®HIRE

3. Gruels/ gferan



4. Feed/ ¥IoH

Correct Answer :-

« Beikost/ 93®RE

22) Limiting amino acid in cereals is:/ 3FTs § YHTHRT i+ o @
1. Lysine/ AR

2. Tryptophan/ f?gﬁv_v{

3. Threonine/ 9374

4. Methionine/ AREIMA

Correct Answer :-

« Lysine/ @AM

23) Vaccination involves administering a certain breed of:/ S®THUIH 1 U 9% &I IR § YA 4T ST &:
1. Dead viruses or bacteria/ Td fauTojaft a1 Sharugsit

2. Chemicals/ g

3. Dead Fungi/ §d ®d&h

4. Living viruses or bacteria/Stifad fasmusif ar starupait

Correct Answer :-

« Living viruses or bacteria/Siifad ﬁWGﬁWGﬁBWI&ﬁ

24) Additional calorie requirement during 0-6 months of lactation recommended by ICMR-2010 is:/ AU P 0-6 HIE &

R, ICMR-2010 TRT SRR rfafyad Had srazgwar &:
1. 600 kcal/day/600 fraipar/fea
2. 550 kcal/day/550 fpaiparfe
3. 450 kcal/day/450 fpaipary/fe
4. 350 kcal/day/350 fpenbeny/fas

Correct Answer :-

« 600 kcal/day/600 fpaibarl/fe

25) Protein requirement of an adult male according to ICMR 2010 is:/ ICMR 2010 §RT 3055 JoY ¥g 3=iFid W= 3t
JHTazgHl

1. 30 g/day/30 /e

2. 40 g/day/40 W/

3. 50 g/day/50 W/

4. 60 g/day/60 W/fe

Correct Answer :-

. 60 g/day/60 T/fea

26) The diet of a protein energy malnourished child should be:/ W&A-Ful UG TR F ABR S drar g1 @riu]
1. Rich in good quality protein and low in calories/ WWH@W@W@WﬁﬁHW
2. Rich in poor quality protein and high in calorieslwwaﬁﬁﬁ?ﬁwﬁﬁﬁaﬂﬁﬂﬁ
3. Rich in good quality protein and high in calories/ 3/t T[uraw aTal WA F TG U FAR! B I A
4. Rich in poor quality protein and low in calories/ TRTd T[T ITd WA I G5 Ud FHard &1 g A

Correct Answer :-

« Rich in good quality protein and high in calories/ e8! TUraT AT WEH § g T ORI &1 S T



27) Which prophylaxis programme was initiated by the Government of India in the Year 1962?/ YA TIPR GRT a4 1962
T -1 AR BRIH R fpam o

1. Vitamin A prophylaxis programme/ faeifi A AnRIY wrdsmH

2. Nutritional anemia prophylaxis/ G0 Ta=ft IqdTeqdl IATHRIY

3. Iodine deficiency disorder programme/ a@sﬁqwﬁww
4. Goiter control programme/ BT fa=aur HTdFH

Correct Answer :-

. Iodine deficiency disorder programme/ SIS AT AR HRIHH

28) Maternal folate deficiency associated with an increased risk of neural tube defects in the infant is known as:/ HTdl

H widie Bt HHY, e RIY H 3799 § SH-8 af~eT 919 e (RE ogd f$hae) & wifew # 3fs § v 32
1. Hypoplasia/ grauIRar

2. Hypocalcaemia/ gTaUTG TR

3. Spina bifida/ &1 SEfthar

4. Anemia/ TITERIT

Correct Answer :-

« Spina bifida/ ST aT3fthaT

29) Measles is an infectious disease and it is comes under the category of:/ mwwﬁw%eﬁ?uﬁ_aﬁ Joft #
37T &:

1. Foodborne disease/ HISHargd I
2. Waterborne disease/ SedTfgd INT
3. Airborne disease/ argaifgd AT

4. Deficiency disease/ Ifl‘cﬂﬁﬁ

Correct Answer :-

« Airborne disease/ argarfed I

30) Which of the following statement is incorrect?/ Eﬁﬁﬁﬂ-mwm%?
1. Cholera is an airborne disease/ &% T argaTed T 7

2. Malaria occurs due to biting of mosquitoes/ AR AwRI & HTed I BT §

3. Tuberculosis (TB) is an infectious disease caused by the bacterium Mycobacterium tuberculosis / cz;d%gpmllr%%l (2‘1-«%)@ TGS I

e ShaT0] gRT 8l @

4. Infection caused by the bacterium Clostridium tetanis Tetanus/&ﬁl@'%ﬂﬂ eeH WW%W Fouis WW‘UTE?I?IT%

Correct Answer :-

« Cholera is an airborne disease/ %GITWHTQHT%HQ}PT%

31) The gestation period for humans continues until the child is born and the “normal” gestation period is about:/

et § 7 1 srafty Ry o9 9% gaed @ ok gg ramar mf srafu ey A et @:
1. 25 weeks/25 9tdlg

2. 40 weeks/40 &g

3. 50 weeks/50 9tdle

4. 55 weeks/55 9ulg

Correct Answer :-

o 40 weeks/40 98

32) How much calories and protein are given to Pregnant women and lactating mothers under the revised (February

2009) norms of ICDS?/ ICDS & IR ATAS! (B 2009) F MHaet Td TaTura He1 & Afgensii w1 fpa=it Fad) vd W= fod = 82



1. 1000 Kcal; 18-20 g/1000 faibaiRy; 18-20 1
2. 1200 Kcal; 20-25 g/1200 fEaiba); 20-25 71
3.500 Kcal; 12-15 g/500 fpaiepay; 12-15 7
4. 600 Kcal; 18-20 g/600 fEaipaisy; 18-20 U1

Correct Answer :-

« 600 Kcal; 18-20 g/600 fpalidpay; 18-20 7

33) A deficiency of calcium in the blood is called:/ mﬁ%@mﬁwﬁ_ﬁrwé:
1. Hypocalcemia/ gt eI foaT

2. Hypercalcemia/ SURG G o

3. Phosphorylation/ TIRIREH R

4. None of the above/ S8 q HIs g

Correct Answer :-

« Hypocalcemia/ grUIGcRar

34) Whooping Cough is also known as:/ i @G #__ Wi Fed &
1. Diphtheria/ fewiifen

2. Pneumonia/ <gHif~ar

3. Tuberculosis/ &3 T (GRS AIY)

4. Pertussis/ qaif@m

Correct Answer :-

« Pertussis/ El"c‘iﬂim

35) Influenza can be cause due to the infection of:/ SIS % HPHUT P PRI gl P &:

1. Bacteria/ Siarg]
2. Virus/ faum
3. Fungi/ d&®
4. Algae/ Qarad

Correct Answer :-

« Virus/ faum

36) How much calories and protein are given to children (6 months to 72 months) under the revised (February 2009)

norms of ICDS?/ ICDS ¥ IXNTUT AFS! (BIAT 2009) P =Iiid a1 (6 ATE A 72 HIE) B! fPa-il Fat T M fod o &2
1. 1800 Kcal; 20-25 g/1800 fpalibaiRY; 20-25 1

2. 1600 Kcal; 18-20 g/1600 el asy; 18-20 71

3.500 Kcal; 12-15 g/500 fpalipaRy; 12-15 71

4.1000 Kcal; 20-25 g/1000 fFraidpaRt; 20-25 a1

Correct Answer :-

« 500 Kcal; 12-15 g/500 fEeidad); 12-15 7

37) During diarrhoea of the baby what will you do?/ RIY] &I o3a 81 SITH W 310 1 H1?
1. Doctor should be called at once/ Wﬁ%ﬁw

2. Boiled, cooled water should be given frequently/ I8Td &R 331 fhaT vid TR-IR foame

3. ORS should be given/ ORS &t

4. All of the above/ B'Q"iﬂ?lﬂlﬂ



Correct Answer :-

« All of the above/ ITjad Tt

38) Which deficiency in children occurs even in mild case of diarrhoea?/ &% & gad-pad aral § +ff = # feast =t
STl 82

1. Zinc/ i

2. Potassium/ TielRaH
3. Fat/ 941

4. Protein/ e

Correct Answer :-

. Zinc/ i@

39) Which of the following d|sease is not protected by vaccination under Universal Immunization Programme?/

¥ 3l 399 A fpw A & faee Tveror 7Y e mar @2
1. Diphtheria/ fewiifean
2. Polio/m

3. Tuberculosis/ &3 I (ISR N I)
4. Cancer/ﬁfm(m

Correct Answer :-

« Cancer/ ®® W (HI)

40) C. Gopalan, in 1971 did systematic diet survey and found that kwashiorkor and marasmic children consume
similar diets and brought out the a theory that is known as: /3. 7irure A af 1971 # T giara smerR Tder fear ur o
I UTT 6 PIRRSR 3R AR T NfSa g= & meR a1 GHH A 3R 39 MUR W 374 Ue fugr feur o F A7 F AT
STaT g

1. Theory of dysadaption/ 3UTI@ar (FETTEPRM) &1 Rigra
2. Theory of adaptation/ &Waﬂﬁl@?{

3. Theory of malnutrition/ FUNUl &1 RIgd

4. Theory of nutrition/ oy &7 g

Correct Answer :-

« Theory of adaptation/ 3% &1 g

41) The first dose of 100,000 IU administered at 9 months of age, along with measles vaccine is:/ 9T B Gﬂ'gtl'\fw
Pt RN F Ty & 7S 1,00,000 1U B UGSt RIS P EA

1. Vitamin A/ faef®= A
2. Vitamin ¢/fqeiffA ¢
3. Vitamin B/fqei®A B
4. Vitamin E/ fqeI® E

Correct Answer :-

« Vitamin A/ faeifi= A

42) During pregnancy the Human Chorionic Gonadotropin (HCG) is a hormone produced by the:/ TyiaRT %?ah-—rgqm
pifvanfe (HCG) TS g BT STed _ gRI @ 8:

1. Fallopian tube/ Saftm AfdieeT
2. Placenta/ YT (@den)
3. Ovary/ 3{SR™A

4. Mammary gland/ o it

Correct Answer :-



« Placenta/ THTE (@i¥eT)

43) Which ministry has the overall responsibility of monitoring the ICDS Scheme:/ f% W=ITe@ W 1CDS TeHT # fFRRT
T GHY IS 82

1. Ministry of Rural Development/ JTHIU fa&T Harag
2. Ministry of Women and Child Development / Al Ud a1 fasma Harag
3. Ministry of Urban and Rural Development/ ¥ g3 ud rtor e aedterg

4. Ministry of Agriculture Development/ q»ﬁﬁwmuw

Correct Answer :-

« Ministry of Women and Child Development / Afg<l Td a1 fdeTg Hared

44) Digestion of polysaccharide begins in the mouth by enzyme:/ %ﬁ‘ﬁ?ﬁ@ﬂﬂﬁg%w?ﬂ SR ATHS TSATgH gRT

1. Ptyalin/ e
2. Lactase/ AW
3. Lipase/ GIECE
4. All of the above/ SuRrad Tt

Correct Answer :-

« Ptyalin/ TfeM

45) The growth and development of girl child is not adversely effected by:/ STfii®13i ¥t gf To e W T ufogpa
qYTa 81 USar 8

1. Caste/ Sl

2. Healthcare/ WTRI T@HTA

3. Early motherhood care/ 3R AT@ @HTA
4. Nutrition/ o

Correct Answer :-

« Caste/ Sfd

46) Normal iron requirement during pregnancy recommended by ICMR-2010 is:/ ICMR-2010WHW$@HW
TTHT SRR SATaRAHT 8:

1. 35 mg/day/35 /e
2. 45 mg/day/45 finfea
3. 75 mg/day/75 finfea
4. 100 mg/day/100 fEEm/feA

Correct Answer :-

« 35 mg/day/35 fiEnfea

47) The commonly used measures for detecting malnutrition in children is/ are:/ ¥=ii T HUTU ST UdT A 8¢ ATHTRTR
g I 2R

1. Stunting/ I(G-¥G

2. Underweight/ ITHRI ¥ & YR
3. Wasting / et

4. All of the above/ ITad Tt

Correct Answer :-

« All of the above/ ijaﬁﬂlﬁ



48) High protein and high calorie diet is recommended for:/ % iU 3= WA Ud 3= $aldl 3MER P SRET H STl 8:
1. Malnourished child/ $UITNd st

2. Obese person/ HIeTaT I SfGaal

3. Adult / IaHT

4. Hypertension/ S=R&ddd

Correct Answer :-

« Malnourished child/ $UITYd st

49) The important mineral within bone are:/?‘%ﬁﬁmﬁlﬁaﬁwaﬁﬂ%
1. Calcium, phosphate and chloride/ HexTH, BiEhe 3R FARZS

2. Calcium, phosphate and iron/ Wﬂ'ﬂ, BiEhe 3R 3MRA

3. Phosphate, magnesium and chloride/ iTe, BHifmm 3R FaRES

4. Calcium, phosphate and magnesium/ Wﬂ,ﬁ@ﬁ\?ﬁ?ﬁ?ﬁﬁm

Correct Answer :-

« Calcium, phosphate and magnesium/ Sl Bidhe 3R AffRmm

50) During the 1st trimester (0 to 12 weeks of pregnancy), total weight gain for most women should be between:/

ggelt formTdt (rufaRi & 0 & 12 FwTe) & IR, st AR A wrRfE_ Fdw e aftw:
1. 0-0-0.5 kg/0-0 ¥ 0.5 o

2.0.5 - 2 kg/0.5 9 2 foam

3.2.0-4.0 kg/2.0 ¥ 4.0 T

4.4.0- 8.0 kg/4.0 9 8.0 fooum

Correct Answer :-
« 0.5-2kg/0.59 2 fHm

51) Services sponsored under ICDS to help achieve it's objectives is/are:/ ICDS & 3ex4l @I Uty & WeTaaT & e Iq&
=it wrafTa Warg 2/8:

1. Immunization, Supplementary nutrition, Health checkup/ UfeRefi@=ur, e Tivor, Wre Sirg

2. Referral services, Pre-school non formal education/ @W(m JaTy, uﬁﬁawﬂ SR e
3. Nutrition and Health information/ TS0l Td WY SR

4. All of the above/ ITa Tt

Correct Answer :-

« All of the above/ Iudad Tt

52) Which of the following genetic disorders that can be diagnosed before birth?/ 378 ¥ f IR faeR H =1 @ uga
g o qhdl 82

1. Hemophilia A/ EHTwIeRET A

2. Thalassemia/ Qo ffr

3. Sickle cell anemia/ W@ﬁﬁﬁm
4. All of the above/ Iudad Tuft

Correct Answer :-

« All of the above/ Iuad Tt

53) The Indian Government has started pulse polio immunization program to ensure that children up to 5 years of age
get polio vaccine free of cost:/ YRd WPR 7 TE FHATHT T & ¢ ued wifera uferefeor srdw ey fean § 1 5 9d 9@ ot omg
ara g=i &I -1 Ao awil= fra:

1. Twice a year/ A IR



2. Thrice a year/ 3§ H 9 IR

3. Four times a year/a'ﬁfﬁﬂﬂaﬂ
4. Five times a year/ g A Ul IR
Correct Answer :-

« Twice a year/a'ﬁfffEffEﬂT

54) Infantile pellagra is widely prevalent among children in areas where staple diet is:/ Mﬂwﬂ% &=t ¥ w=i § sarus
FTUY U E'I?IT%EBTWE'@I 3TleR

1. Rice/ ddd

2. Wheat/ ﬁ§

3. Millet/ STSR_T

4. Maize/ Hadh[
Correct Answer :-
« Maize/ Hddl

55) Infection of Chéarlon, Amniotic fluid and Placenta is called:/ SRTg @ﬁmﬂ) Jed drdl (Ef%l’lﬁﬁiﬁm 3R mAT| oﬂ@a) &
HHAU DI HEd

1. Chorioamnionitis/ ®INATRRAATSCH
2. Anthrax / Q’*‘Q?ﬂ

3. Hepatitis A/ TUTIEed A

4. Tuberculosis/ & I (SIRPATI)

Correct Answer :-

« Chorioamnionitis/ ®RagREMTeq

Topic:- General Knowledge and Logical Ability

1) National Commission for Women is headed by:/ IT§1a Wi TIIT B Srede §:
1. Lalitha Kumaramangalam/ cidT SHRFEITEH

2. Menka Gandhi/ ®+aT Tifelt

3. Mamta Sharma/ HHar gHf

4. Sushma Swaraj/ gYHT TR

Correct Answer :-

« Lalitha Kumaramangalam/ aferdr QTHRT!TIETI

2) Which answer figure will complete the pattern of the question figure? / T8 ¥ @ ®1 It IR 3ol wy enepfa &) quf Hft?

Question Figure (737 MG Answer Figures |3t s

N
AZNN

(<) ()




Correct Answer :-

3) In India, child sexual abuse is defined by which of the following Act?/ YRd ¥, STd A gofasR &Y 38 & fFw sff~ram gr uRurfya famar war @2
1. Juvenile Justice Act/ TR =oma SrfafRaw

2. Domestic Violence Act/ Yﬁ?jﬁw ffam

3. Equal Remuneration Act/ AT uiRaifte sifafam

4. Child Labour Prohibition Act/ aTeT s 8 srfafam

Correct Answer :-

« Juvenile Justice Act/ f=IR =ama Siffaw

4) Home Science is an:/ T[g R #®:
1. Applied science/ 3G A

2. Biochemical Science/ SRR &7

3. Pure Science/ Y& CEIE]

4. Animal Science/ g fas=

Correct Answer :-

« Applied science/ 3w M

5) Why is Sharda Act important in the Indian context?/ HRd & W<¥ & =MRer sif¥ifraw wgeayufl =i 32

1. Tt recommends free education for all children up to the age of fourteen/ T8 Tiag T8 de & Tt F= & o F-<eeh R1en BT < F=aT g
2. Tt recommends supply of study materials to girls free of cost/ T8 St B e ST TRRR MRS Ft 3R BT &

3. It prohibits child marriage of girls/ g STfermTaT &1 S1-fAaTE g Har®

4. It prohibits child labour/ Ig §Td 4H BILE W%

Correct Answer :-

« It prohibits child marriage of girls/ T8 ST H1 S1d-faarg Mg HRar g

6) The advantage of MS WORD is in:/ THEY a8 &1 @Y # firerar &
1. Letter writing/ T TRa-T

2. Preparing lecture/ RS TR B

3. Preparing question paper/ U4 U3 AR B

4. All of the above/ Sudad Tt

Correct Answer :-

o All of the above/ GT@?H Tt

7) ECCE is the abbreviation of:/ SURIIE &1 1 A9 &:

1. Early Childhood Care and Education/ 3¢l ITStegs HaR T8 TH2H

2. Early Culture of Care and Education/ 3eff e 3 FR TS QG\I@'&’H

3. Early Childhood Concern and Compulsory Education/ 37cif 9130888 &ar U8 HHIRT ThH
4. Early Childhood Compulsory Education/ Gﬁfﬂ'ls?s@"s’ WQWH

Correct Answer :-

« Early Childhood Care and Education/ Gl?ﬁﬂlsc'sgs PW TS [§SCNE]



8) The Dowry Prohibition Act was passed in:/ <o ey sifufaw ﬁ'ﬂTﬁH@?rlT T
1. 1961
2.1971
3.1981

4. 1991

Correct Answer :-

« 1961

9) The family headed by a female is known as:/ Afe@T GfeaT arat uRaR &1 HET I &
1. Patriarchal/ TUqerTeT®

2. Matriarchal/ HIGHTIIHSD
3. Matrilocal/ TaieA®

4, Patrilocal/ Tfce

Correct Answer :-

» Matriarchal/ ATGIIIHD

10) Which of the following is not a graphic file extension?/ 38 & B9 & W (RET®) BIEd BT IR (THE=H) 6 82
1. .JPG
2. .BMP
3. .PNG

4. .DOC

Correct Answer :-

« .DOC

11) The Hindu Succession Act 1956 provides for women the right to:/ %ﬂaﬂf?ﬁfﬂ Sifufraw 1956 uﬁm&ﬁ Cal @1 AfUPR a?l'l %:
1. Maintenance from husband/ ick ﬁiﬁ's' g

2. Childless woman/ R:ddr Afgar

3. Intercaste marriage/ 3=SIid i faaTg

4. Paternal property/ Wmﬁ

Correct Answer :-

« Maintenance from husband/ fd & fafe =og M

12) Fertilization of ova in humans take place in:/ 'FIT!ﬁ ¥ 3vs FIRHT F71 A= Aeare:
1. Ovary/ 3SR

2. Vagina/ aq

3. Fallopian tube/ Talfuae e

4. Uterus/ THf=r

Correct Answer :-

« Fallopian tube/ Safug AfresT

13) FCI stands for:/ FCI &T T - &:

1. Foreign Co-operation with India/ iR @I-3iTUR=H fag sfear
2. Food Corporation of India/ S PRURRH 31t fsan

3. Fossils Corporation of India/ IR HRURRM 3fith 3fgar

4. Food Coming to India/ S HfHT ¢ 3fear

Correct Answer :-

« Food Corporation of India/ 8 HRURTM 3iTth $fear



14) A computer performs all mathematical and logical calculations through:/ $¥cX It fordia LG daifbe METE & HIHH | ST %:
1. Central Processing Unit/ 31 TshHUT ST (Y TRARIT gfie)

2. Memory unit/ ¥ T (9N Tfe)

3. Output unit/ F7TH 35T (3M13eye gRe)

4. Visual Display unit/ = e T (Rgar e afie)

Correct Answer :-

« Central Processing Unit/ 3~ UhH0T 35618 (Sea MRAIRAT gfe)

15) Kicking, punching, beating is an act of:/ <Td AR, ‘EIHT HRAT, Hear Car %:
1. Sexual abuse/ i W@W

2. Physical abuse/ Wﬁiﬁgﬁfﬁ%ﬁ

3. Emotional abuse/ WW

4. Financial abuse/ fa<fia gafagr

Correct Answer :-

« Physical abuse/ TNIN® gfagR

16) Which among the following is the basic unit of society?/ sqﬁ"@ P TS B Wﬂﬁfsﬂﬂé %?
1. Husband and wife/ afd g g&t

2. School/ fare

3. Family/ IRar

4. Neighbours/ q—sﬁ?ﬂ

Correct Answer :-

« Family/ gRar

17) DIRECTIONS: In question given below select the related letters from the given alternatives./ o R ﬁ't{ e uy ﬁﬁ'l! Kly fawed o | Wafia
&Y BY gig |

CFDB : XUWY : : GJHF : ?
1. SPRT
2. TSQU
3. TQSU

4. SPTR

Correct Answer :-
« TQSU

18) At what rate of interest will a sum increase by 30% in 2 years at S.1.?/ fd QTURY O $1 @* W 2 96 & HI RT=A

30% §¢ TgI?
1. 15%

2.12%

=
3. 102%

4. 30%
Correct Answer :-
e 15%

19) Binary numbers refer to:/ ST3-1 T@3it o1 3ref A

1.0,1



Correct Answer :-
« 0,1

20) Two sums of money are proportional to 8: 9. If the first sum is Rs.200, find the other sum?/Efle‘fQT 8:9 %Wlﬁtlﬁﬁ
g afe ugeh 7T 5.200 3, gadt Iy 719 B

1.Rs.210/ %.210
2.Rs.225/%.225
3.Rs.245/ %.245

4. Rs.250/ %.250

Correct Answer :-

» Rs.225/%.225

21) Sarva Siksha Abhiyan was a scheme to improve:/ ﬂifﬁT&ﬂ = . q qur %T;[E?ﬁ o A
1. Legal status of women/ Higarmsif aﬁ?ﬂ*‘fﬁ Rfy

2. Functional status of women/ |3l & Srifd® Rufd

3. Educational status of women/ Hfgeriaf &t At Rufy

4. Political status of women/ Afgen3il &I Iemfde Rfd

Correct Answer :-

« Educational status of women/ Afgaaf &1 Qi fRufa

22) The term for a fertilized egg from conception until the end of two months development:/ o= @ A< 3 HIE & Ao 9 F Efy F a?T:T,
et sive HIRIwT B 71 FHeT W @

1. Embryo/ YUI

2. Zygote/ QTS

3. Foetus/ ey gy
4. Ova/ 3(US PIRTHI

Correct Answer :-
* Embryo/ YOI

23) Which one of the following diagram represent the relationship between husband, wife and family?/ faddsa @R anqsﬁr, qﬁ,ﬂﬁl iird
TRER & AE g B euid 82

4.

Correct Answer :-




24) Marriage to more than one wife is called: /T J 31t et | ﬁﬂﬁ_ﬁ?ﬂ?ﬂ %:
1. Polyandry/ TSIEUT?:_CI

2. Polygyny/ a@n’«ﬁa

3. Matrilineality/ HIGa=T

4. Matrilocality/ HIGUUTACT

Correct Answer :-

« Polygyny/ SgUA@

25) B is the only child of only daughter of C’s paternal grandfather. How is C’s father related to B?/B, C & IGI Sl 31 g dlal 9¢1 B1 gPpalal Ha g1 C
¥ far B A f5g TR Wl &2

1. Maternal Uncle/TTHT

2. Paternal Uncle/dT=T/di%

3. Father/fOar

4, Cannot be determine/3Td & fawa I Tl

Correct Answer :-

« Maternal Uncle/HTHT

26) 4 4
20% of 50% of ° of a number is 200. What is 20% of that number?/ T &I & > &1 50% BT 20% ,200 | 3T T-AT HI
20% fpar 82

1. 620
2.375
3.560

4. 500

Correct Answer :-

« 500

27) National Literacy Mission is a programme for:/ ?Te’fﬂ TrerRan fmE %gw CavEa %:
1. Education/ Rem

2. Health/ g

3. Nutrition/ ooy

4. Housing/ 3{1drF

Correct Answer :-

« Education/ e

28) AIDS can spread from an infected person to another person through:/ T8 T& Tepfrd aafea & gw‘\f fed BT _ P A1aH A o godr 8:
1. Sharing food/ WWW

2. Blood transfusion/ YadT¥T (X El'c._!'lef)

3. Sharing comb/ HT AT TR

4. A mosquito bite/ AR & Pl

Correct Answer :-

 Blood transfusion/ Y& (g7 IGM)

29) What should come in place of the question mark (?) in the following question?/ fF=fifad v & wxaas R ) &
RIF W T 31T A1feE?

126 + 14 x 9 - 53 = (?)
1.28
2.76

3.18



4.-52

Correct Answer :-

30) Gastric secretion is stopped by which among the following hormone?/ ?ﬁ'ﬁ I SI-41 ETFIT'—I 3Tl HTE ®Y Abar %"
1. Enterogastrone/ @@?@j’i

2. Cholecystokinin/ PIARREIBIRAT

3. Gastrin/ ﬁ'@ﬁ

4. Pancreozymin/ UfhaiemafaT

Correct Answer :-

« Enterogastrone/ TeXRREH

31) A sudden but permanent change in a segment of DNA is called:/ DNA & 5t Ts ® s RI® TR Wirf uRadq &t Pl oIl e
1. Mutation/ IaRadd

2. Inheritance/ IRl

3. Phylogenetic functions/ STIfd-gTerd TRl

4. Ontogenetic functions/ BT@T-?{W I cau

Correct Answer :-

« Mutation/ IAR@dT

32) InIndia child laborer is defined as a working child in the age group of years and below:/ YRd & af Ud I HU AR B

HTHBTST g2 B a1 4fe & &7 § wRHRa fear mar &:

1.14

2.13
3.12

4.10

Correct Answer :-

. 14

33) National Rural Health Mission (NRHM) launched in:/ 810 Ifior TaTR4 fae (NRHM) ST 3R® & fwar man ami
1. 2004
2. 2005
3. 2006

4. 2007

Correct Answer :-

e 2005

34) Coding of the data is done to assign:/ 3T P HIET oA AP ﬁl‘t{ P et %:
1. Numeral to answer/ IR &I TSHiH

2. Symbol to answer/ ITR B! Ui

3. Both of the above/ SURII GHI

4. None/ ﬁé’ ER

Correct Answer :-

« Numeral to answer/ ItR & IHH

35) A man from a fixed point, walks 4 miles north, turns to his right and walks 2 miles, again turns to his right and walks 5 miles, again turns to his
right and walks 3 miles. In which direction does he faces now?/T% 3iTeW! T ff¥a fig & 4 Wiar I=r fa=m & g@an 21 f5R 3T geov 2 Wa Toar 31 i
3T Ggo 5 W TadT 1 3P 915 R 3¢ oo 3 Wl Tael 81 34 SUPT G& fovw fa=m & 82

1. North/3aiR



2. South/gf&ror

3. East /qﬁ
4. West/Uf3H

Correct Answer :-
« West/af3m

36) Average of five consecutive even numbers is 12. Find the largest number./ U€ @R G99 @13l $7 394 12 8| 9aQ
TS WEm 91 |

1. 16

2.18

3.14

4.10

Correct Answer :-

« 16

37) What should come in place of the question mark (?) in the following question?/ fF=iffad uxa & yxHaw® g ) &
YT W T 3T A2

25% of 8800 + 20% of 5500 = ?% of 13200/ 8800 %1 25% + 5500 PT 20% = 13200 PT ?%

Correct Answer :-

« 25

38) The Integrated child Development Service (ICDS) was introduced in the year:/ JAfed 9Td fa® Y AaT1 (ICDS) HT 3R™ Tf T garm T
1. 1965
2. 1975
3. 1985

4. 1995

Correct Answer :-

e 1975

39) 12 Men can complete a piece of work in 20 days. In how many days will 3 men complete that work?/12 &4 T
P B 20 o & R R T &| I B H 3 7o fvan fol & gy dre

1. 50 days/50 &7
2. 60 days/60 f&a
3. 40 days/40 faa
4. 80 days/80 fad

Correct Answer :-

« 80 days/80 fa7

40)
DIRECTIONS: What should come in place of the question mark (?) in the following letter series?/ réwr: Fafafaa ser Joft & uyars fas ?) & R R 1
STEI?

b, s, i,m, ¢ t j, nd, u k2
1.q

2.0



3.p
4.r
Correct Answer :-

e 0

41) Which of the following is not an ingredient of ‘MS Office’?/ 371 & P4, 'THTH 3T &1 TP U el 22

1. MS Word/ THTH 78

2. MS Excel/ THTYH TR

3. MS Power Point/ THTY UTGR U5

4. MS In look/ THUYH g7 g

Correct Answer :-

* MS In look/ THTH g P

42) Basic education (Nai Talim) is the concept started by:/ 3MURYd g (Fft arefiw) __ R 3wy &Y Teft v 3raumon &:
1. Jawaharlal Nehru/ STdTgdlel ERES)

2. Mahatma Gandhi/ ﬂ%’m’l’ﬁiﬁ

3.5.K.Dey/ T8.&.

4. Rabindranath Tagore/ e TR

Correct Answer :-

« Mahatma Gandhi/ FgTET g

43) DIRECTIONS: Find the Mirror image of the given group of letters./ ﬁ%ﬂ: ﬁl‘{ M QI'Eﬁ & qqg &1 E'lfUT yfafar AT ]|

A
BUZZER

B
L A3ssug
2. RUZZEB
3. A3ZZUB
4. IREZZBU

Correct Answer :-

. A3ssug

44) When an object is sold at Rs.836, the loss is 5%. Find the cost price of the object./ fFfl "G # . 836 HITH A5 %
FI g gt }1 39 IRG 31 69 Yo [Ia B

1. Rs.860/%.860
2. Rs.830/%.830
3. Rs.880/%.880
4. Rs.920/%.920
Correct Answer :-
« Rs.880/%.880

45) A person covers a certain distance at the speed of 30 km/hr and returns to the starting point at a speed of 50
km/hr. Find the average speed of the person for the whole journey./U% afdd & i3 gt 30 forei/aer & fa @ g wrar @
3R Ao SRR fig W 50 fmfi/eier &Y nifa @ eean 31 oo amn & fog wafea &5t sitara wifa gma &1

1. 50 kmph/50 feel/ be
2.37.5 kmph/37.5 faHy e
3. 48.5 kmph/48.5 farH T



4.52.5 kmph/52.5 fooel/ ge

Correct Answer :-

« 37.5 kmph/37.5 fefl e

46) DIRECTIONS: Select the one which is different from the other three responses./ ﬁ%&r: 39 fareu &1 989 B oY o T | R %l
1. Bus/ §9

2. Train/ ¢

3. Truck/ &

4. Wheel/ ufgar

Correct Answer :-

« Wheel/ afgan

47) PMGSY was started in the year:/ PMGSY &7 3R¥H a§ o g um:
1. 2000

2. 2001

3. 2002

4. 2003

Correct Answer :-

« 2000

48) The most conspicuous visible change that occurs in boys during puberty is:/ QIR F a?FT Flgiﬁ ¥ g1 arel waifie gy =9 qRadq %:
1. Increase in height/ ?ﬁ'l’sfﬁ T{@

2. Development of voice box/ HUS &1 fadmRT

3. Production of sperms/ W‘U}’rﬁ HI Il

4. Increased sweating/ T 3ifdes ST

Correct Answer :-

« Increase in height/ TaE & g

49) UNICEF work for:/ TH% ___ % g o1f el &:
1. Children/ S/

2. Women/ Hfgand

3. Divorcees/ Hﬁﬁ%’c{l&ﬁ

4. Men/ GBNI

Correct Answer :-

« Children/ S/t

50) Count the number of triangles in the following figure./ g 3ﬂ§7ﬁf ﬁﬁ'ﬁ\‘rﬁ B T JId DY |

1.4
2.12
3.16

4. 10

Correct Answer :-



51) DIRECTIONS: Study the following table carefully to answer the question given below./ fé=r: frrafefaa aroft @1
Y e HY - el T vy 31 IR g

Production (in Quintal) of different crops of a state in the given years./ﬁQﬂ'({?ﬂﬁﬁ Wm%ﬁﬁlﬂ ! BT IATGT
(fBea #)|

Crops/®dd 2005-06 |2006-07 |2007-08
Rice/dmad 8920 7100 7920
Wheat/ g 4800 5040 4610
Pulses/ aTel 1830 1580 1420
Sugar cane/ T 29700 29430 28450

By what percent approximately did the production of wheat increases from the year 2005-06 to 2006-07 ?/ af 2005-06 T 2006-

07 ® g & IauTeT H w1l fpam wfa=ra 91 9f g$2
1. 5%

2.10%

3.20%

4. 15%

Correct Answer :-

« 5%

52) Internal bleeding can be caused by:/

1. Injury/ e

2. Iliness/ AT

3. Medication/ garait

4. All of the above/ ST Tt

Correct Answer :-

« All of the above/ GT@?R‘I Tt

53) In a certain language ‘TRIPPLE’ is written as ‘SQHOOKD’. How is ‘DISPOSE’ written in that code?/ f&ff Tihfae HIYT & "TRIPPLE’ &) *'SQHOOKD’
o ST @ 1 'DISPOSE’ Pt St ISt # $4 ferar wimem?

1. CHROMRD
2. CHROMSD
3. CHRONRD

4. CHROORD

Correct Answer :-

¢ CHRONRD

54) Window 2007 is an:/ fdglsi 2007 T ®:
1. Operating system/ 3TqRfET e

2. Control system/ a@‘ra Rrew

3. Memory system/ T} Red

4. Life system/ dIgH Rreq

Correct Answer :-

« Operating system/ 3TRfeT Rer

55) Which of the following glands secrete 0il?/ sﬂ'ﬁ J SI-3 9 aet Ffad B 82
1. Thyroid gland/ 3/@¢ (¥RRIsS) I

2. Pituitary gland/ tﬂ?lq IRy

3. Sebaceous gland/ @TaT (RiafRmaw) afy

4, Endocrine gland/ 3=:9d! 4f=Y



Correct Answer :-

« Sebaceous gland/ @TawT (Rrafaw)

Topic:- Managerial Skill

1) The skills required for carrying out any job successfully are termed as:/ mmaﬁmﬁﬁ%ﬁ ST B
Eal HET T &

1. Soft skills/ Safde et HI

2. Communication skills/ IR H1ad

3. Facilitation skills/ TTH\HRON BT

4. Hand skills/ 5% I

Correct Answer :-

« Communication skills/ ¥9R ®IT@

2) The person who is not paid for his work is a:/ mm*quﬁuﬁmﬁmﬁraﬁ_m%
1. Lay leader/ 3mfRiféra <ar

2. Top Leader/ e Jar

3. Professional leader/ ORaR dT

4. None of the above/mﬁﬁaﬂgﬁ

Correct Answer :-

. Professional leader/ UR/aR Jdl

3) Television is a:/ é?ﬂﬁﬁ:rw 2
1. Media mix/ A1eaH fasor (@ ifsa )
2. Source/ Ad

3. Medium/ AT (FHifsam)
4. Channel/ﬂ'l"'f(aﬂﬁ)

Correct Answer :-

. Channel/ﬂﬂf(aﬂ—c{)
4) A continuous geographical area is a component of:/ Tdd Wi &= BT UTH BT &:

1. Group/ 9Hg

2. Community/ &

3. Social change/ JTHTI® TRadH
4. Social control/ ITHTNS fATaur

Correct Answer :-

« Community/ 4ad

5) DRDA expands to:/ DRDA ®T IXT ATH &:

1. District Rural Development Authority/ foram amtor fawr onfereor

2. District Rural Development Agency/ foren gt fawr Q@Qﬁ

3. District Rural Development Act/ T st fawma siftifraw

4. District Rural Development Association/ fSram arHior fgeTd TaifRigeH

Correct Answer :-

« District Rural Development Agency;/ forar artor g woid



6) Micro Level Planning is an example for:/ ﬁawwﬁuﬁmmﬁmﬂ%
1. Imperative planning/ 3{fard GieHT

2. Five year planning/ dea@yfg greHr

3. Regional planning/ REIBKIEE|

4. Target group planning/ WWW

Correct Answer :-

« Regional planning/ &g T

7) The degree to which an innovation is difficult to adopt is called:/ H1§ A9-Yad-T AU fohg WAT aF HIe7 8, 39 E |
ST 8:

1. Observability/ Tdaerar
2. Complexity/ TReadr

3. Compatibility/ 3o ddr
4, Triability/ garmafHar
Correct Answer :-

« Complexity/ aftadr

8) Adopter categories are the classification of the individuals within a social system on the basis of:/ 11%’!31 (QSTE?)
i TP R F ATYR TR AfFaa) &1 afleor §:

1. Rate of adoption/ T8I &R (X< 3T TST=M)
2. Innovativeness/ TaUda-Taal

3. Social system/ TSI T

4. None/ ﬁ'st:reﬂ

Correct Answer :-

« Innovativeness/ TaUad-Iadr

9) Minimum need programme was launched during:/ <J7dH AARGHAI BIAHH P ST R¥ fomar T or:
1. 3rd five year plan/ TSt teradfg drsmm

2. 4th five year plan/ @ Gaaufa dremT

3. 5th five year plan/ Urad] taaufg g

4, 7th five year plan/ gradl dgas{a areHT

Correct Answer :-

« 5th five year plan/ Uradl U=ras{a aieHT

10) Planning in India as it is at present can be termed as:/ mﬁaﬁmﬁﬁ@ﬁﬁmaﬁﬁrm%
1. State planning/ I ST

2. Centralized planning/ &g d areHT

3. Decentralized planning/ &gl d areHT

4. Indicative planning/ S&drei® o

Correct Answer :-

« Indicative planning/ Y& dId® Tl

11) According to Berlo, the communication process has:/ gl & SYNR, Tar ufeear & T E:
1. Four elements/ IR ¥cdh

2. Six elements/ &¥: Uch



3. Eight elements/ 313 Ucdh
4. Ten elements/ ¢4 Ucdh

Correct Answer :-

« Six elements/ &: Uch

12) Training is basically a:/ W& gaa: t& @
1. Product/ 3d1q

2. Process/ Ufshdl

3. Activity/ TIfafafer

4. Programme/ WA

Correct Answer :-

« Process/ Ufsrar

13) The State having highest literacy rate is:/ Haifie FT&RET &R ara T4 &
1. Uttar Pradesh/ STR UeT
2. Kerala/ A

3. Tamil nadu/ IATATS
4. Odisha/ 3fifER

Correct Answer :-

. Kerala/W

14) The leader who directs others to do a work is known as:/ Wﬁmﬁﬁ%mﬁﬁﬂﬁmﬁﬁmﬁ_ﬁﬁ%
1. Autocratic/ ﬁ'{?ﬂ

2. Democratic/ elTdT~ad

3. Laissez Faire/ B%I&Y 1 & dTel

4. None of the above/ IWRIad & § H13 T8l

Correct Answer :-

« Autocratic/ R

15) The head of Planning commission is:/ {0 ST $T e gRT $T 1t 8:
1. Prime minister/9eTaH3!

2. President/ TI'E'CIﬁf

3. Chief Minister/ TR

4. Agriculture Minister/ &Y H#At

Correct Answer :-

« Prime minister/H‘Eﬂ'rl'q'sﬁ

16) Collection of facts is a step of:/ H@WWW@W?;
1. Programme planning/ PHRIHH GIorT

2. Co-ordination/ ¥HdYg

3. Controlling/ o

4. Evaluating/ Hedi+

Correct Answer :-

« Programme pIanning/W?ﬂ\_yﬁT



17) The person who guides and influences others is called as:/ gﬂﬁwmhmﬁmqaa%umﬁamﬁmm%
HgardT e:

1. Teacher/ Rigrd

2. Parent/ fHYTdH
3. Leader/ Jdl

4. Politician/ rSrferT
Correct Answer :-

« Leader/ =l

18) Which bank was involved in the rural infrastructural fund setup?/ IftoT SraeR=AT A B WY # 19-971 9% Ay a1
1. RBI

2. NABARD/ TTaT8

3. IDRB

4. SBI

Correct Answer :-

« NABARD/ AT 3

19) 'Akashvani’ is the centre for:/ ‘3THIRETUI _Waﬁs"%z
1. Radio broadcasting/mw

2. Television broadcasting/ CTifao STSHTRET

3. Radio telecasting/ & caliamIReT

4. Television telecasting/ TafaeH caltemIReT

Correct Answer :-

« Radio broadcasting/ Xf&a UHRUT

20) Method demonstration applies principle of:/ mmﬁ_ﬁﬁmmmméz
1. Learning by doing/W?ﬁ“@ﬁ

2. Seeing by doing/ CRCRACE]

3. Doing by hearing/ g &X &

4. Doing by touching/ wmﬁr

Correct Answer :-

« Learning by doing/ ®3& IRa-

21) Transfer of technologies by Krishi Vigyan Kendras to:/ $Rfagm s &) wrenfiferal &7 sarur o= &
1. Farmers/ faamt

2. Farmwomen/ Afgal f&ami

3. Both of the above/ JWRI&d G

4. None of the above /mﬁ@raﬂéqﬁ

Correct Answer :-

« Both of the above/ RENESKAR]

22) Which is not a step of extension educational process?/ 378 ¥ @4 fawR Ram ufsar &1 v =1 781 22
1. Situation/ gRfufy

2. Objective/ B%@
3. Teaching/ &I+



4. Learning/ 3ifmH (@f+m)

Correct Answer :-

« Teaching/ &9+

23) Adult literacy programme can be considered:/ WW&R‘(ITWH%_WWW%:
1. Formal education/ 3foaties e

2. Informal education/ 3o e

3. Non-formal education/ R-3iu=nie e

4. All of the above/ ITjad Tt

Correct Answer :-

« Non-formal education/ TR-3u=ie e

24) The basic unit of development under IRDP is:/ IRDP%MW%%W%—
1. CD block/ HI$S! sl

2. District/ forem

3. Village/ 7@

4. Family/ 9RaR

Correct Answer :-

+ CD block/ ¥ i

25) Nature of the programme planning process is:/ BTHHH TS UfthaT Bt UHfa @:
1. Unifying and integrating/ SIS+ @ TH1&H0T

2. Helping/ 9gTIdl &1

3. Supporting/ Fud B

4. Sympathy/ SgHYAHRI

Correct Answer :-

« Unifying and integrating/ ST § THIHR0I

26) Rural development programmes are implemented by:/ mmmiﬂmﬂ_mmm?
1. DRDA

2. KVIC

3. CAPART

4. CSwWB

Correct Answer :-

- DRDA

27) Self-help group concept was adopted in:/¥ad TETIdT TYE BI @URUT ¥ ro=rdt it <0
1. IRDP

2. IAAP

3. PMGSY

4. SGSY

Correct Answer :-

« SGSY

28) The father of Extension is:/ fO&R &1 §°® Y gl ST &:



1.].P.Leagans/ S 0t. =g

2. G.L.Ray/ Sf.ud@. I

3. 0.P.Dahama/ 3 GolHl
4.1.B.Chitamber/ &1}, fadmR

Correct Answer :-

« J.P.Leagans/ . ot i

29) Extension programme planning is a:/ ﬁﬁﬂﬁmfﬂ»‘qﬁﬁﬁqw_%
1. Social action process/ JTHI® B Ufhar

2. Economic action process/ anfie st ufgear

3. Corporation action process/ Enitac (ﬁ'ﬁ'—‘(ﬁ)mm

4. Political action process/ Iomfae s ufsear

Correct Answer :-

« Social action process/ ITHING HTd UihaT

30) Andragogy deals with:/ TgIf} _ AgwEfud g
1. Change/ TfRad=

2. Adult learning/ 98 AfeFTH

3. Society/ THNS

4. Ancient civilization/ Ui Twar

Correct Answer :-

« Adult learning/ 3% 31feRTH

31) Model viilage programme is:/ 3exf ITH HTAHH ©:

1. Pradhan Mantri Adarsh Gram Yojana/HUHTEﬁ et 7 At

2. Pradhan Mantri Kaushal Vikas Yojna/YeTTH= S1e fa T aremr

3. Deen Dayal Upadhyaya Grameen Kaushal Yojana/ < aTel Sutearg UrHio S 1=iet AT
4. Ajeevika/3MTefadmT

Correct Answer :-

« Pradhan Mantri Adarsh Gram Yojana/l;r%ﬂ?ﬁ'aﬂ 3reet Iy IieT

32) Radio is an:/YfsWTH &

1. Visual aid/ Y dgidd SUH U]

2. Audio aid/ 41 HgTddh 3UDRUI

3. Audio-visual aid/ 4H-2Y gl YD
4. All of the above/ ITja Faft

Correct Answer :-

» Audio aid/ ¥ HgTPh JUDRUT

33) Acceptance and rejection are one kind of:/ TR T4 3RAIHIV UH UPR BI/HT &
1. Failure of channel/ AT&9H (%maﬁﬁqa—m

2. Feedback/ BIgs® (AHATH)

3. Treatment/ AdgR

4. Empathetic feeling/ T &1 SFIULT

Correct Answer :-



« Feedback/ BIE8® (YAI=M)

Topic:- RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ a1 fFafufa weriw # wmyde yewt sad 9
o2 T sgfamed wxal ¥ O fawey o1 9w ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

T g8 Sifad a1 forifa avg § S SFeT) ATS S &7 TaTH 2 E! 81 TEt A iy WuR &1 IgH BiaT 81 T 98 e R A1 § o) =i
fopaT o1 381 @1 B (TABIST) WS B T YHTS! UPo T8 B @ ufthar @ wit 3refiy siar-anf & foe qws@ o omar= g1 o™
FeforaAd g o1 R, Td T ® fopelt Arf (@) & Areaw  Werd o1 8| 98 UTHH Wi, 3rxfseh, safdaiTd, sraafaird a1 g1 Aoy &1
PIS YIS 81 YobdT 81 WS B 3=Id: Ushdi gIRT U e faspifea (Sters) o forar wirar 31 afe wid A Wewr Sfua < @ durR fear €, at
Udal i W™ B AP HI 7 A & HIS U 781 gral 1 3rd: T U=t Therdl BT +vig, Wraspdt ¥ 39 fire arel ufagfy
(FISAP) & YR W HAT 8| T8 Uy Tag WaR Thadr St ufthar & Hem Ud 39 iR YRR 9914 ST U 3G9 gaT 8l

3 o omar @ wed, o g ufvawr emar @ Rorad wd=r ware fvan wan 81 9@ 9% Wgad WTT 81 T AT 9T HISH, AR Bt gHTaRiTedT & g
Fef sra= Ageaquf ghar 1

The living or non-living thing attempting to share information is called:/ STH®R] AT HIA BT TATH FR 3§ Sifaa a1 feifa
aeg Bl f

1. Source/ ¥

2. Message/ R/

3. Channel/ ATIH

4. Receiver/ TR dr

Correct Answer :-

. Source/ 9id

2) DIRECTIONS: Read the passage and answer the questions that follow./ a1 fFafafea e ) emydes yese 3ad 9
& T agfamedt wxel & 9 fywey o1 999 +¥)

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

Td 9g Siifad a1 fHieifa avg 8 S ISR AT HRA BT TaTH B @1 21 T8t A iy WaR &1 Sgd BiaT @ | W 98 WS R AT ¢ ol "aria
e <11 381 ? 1 Pre (TIPS S B! TF YHTS! TPor # TS B3 @ ufthar @ wit erafiy siar-anf & i qwsm § omar g1 dew

B 91 W, Wi W= &t fpeft anf @) & a1 [ ueH SR 81 98 U1y i, =i, sfdatrd, sreafeard a1 3= Aforat &1
PIS TS 8 ThdT & | T B 3Td: UTadpd! gRT U vd fapifsa (Srprs) o= forar siman 81 afs wa 7 4w 3fa &1 9 dur fpar g, @
Uehd] &I Y B fIhHSd B 7 JHEM & BIs T 781 gt 81 3rd: Wid U=t hadr &f iy, wreasat ¥ 39 fires arelt ufegf®
(PTSIDP) F YR W FAT 8| T8 Uy Feq TaR ThadT &1 9T B JE 09 39 SR YRR 9911 71 TP a9 gial 2

3= ® 3 @ wed, T g ufvawr emar @ R Td=r ware fran Wt | =18 9% Wgad WTT 81 g1 I 4T AT, SER Bt gHTaRiierdr & g
Fe sra=1 AEaquf ghar &1

The information that is being communicated is:/ FARA & AT TG FAFBRY B ... B 8-
1. Receiver/yTddar
2. Message/ B

3. Channel/ ATIH



4. Source/ |

Correct Answer :-

« Message/ =r e

3) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: fafef@a e I w-gd® ves? 3% -
fea m sgfasedt uxel ° wd fwe &1 T ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

W g witfad a1 felfa avg 8 S STHeRT WIS HI 61 T &= 361 81 981 | Y WuR &1 3¢H 8T 81 W 98 WHorRI 1T ¢ o) wariva
fopar =1 T@T B 1 BIST (TAPII) TSU B T THTH TPol A defei w3 Ft ufspar & St iy siar-avf & e IHs@ # o= &Y | |ew
Fefafld 8 9 W, Wid W1 &1 fHeft anf @Fe) & areaw | ueH wdl 31 98 UTHH M, e, aafdard, sraafdard ar 3 Amt &1
IS OIS 8 THdT 8| TS PI 3=Td: UTaiehd| gIRT UTe Ud fasifed @1ore) = o sirar 81 afe wid 7 wewr 3fe <1 & dar fear €, o
UeTdl I TR Bl fAP S He1 T THgM A HIS U 781 gial 81 3rd: T Tt TherdT BT [+1vig, Wrarpdt @ S« fire areh ufagfy
(BTSa®) F YR W FAT 8| T8 Uy Faq IaR Thadt &1 9fpar B Je- 0e 39 iR YRR 9911 61 T 3G9 gial 2

3= H 37aT 8 weed, Forad ag ufvasr amar @ Roras W= wer farar man 21 918 98 wged WIS 81 9T AT 9T W1, AR 3 gyTaRitedr ¥ g
T 3rea=a Hgwayuf et 31

The process of bundling the message into an effective package that is easily understandable for the intended

audience is:/ _mﬁ@mmﬁmwﬁméﬁﬁ arwﬁw W-ﬁ%mmﬁ' Gﬂﬂﬁ'(»"r:
1. Encoding/ ®T& (TTHITET)

2. Decoding/ fa@Te (Siwifem)

3. Transmitting/ TU0T

4. Receiving/ WG

Correct Answer :-

« Decoding/ fa®ia (Edifem

4) DIRECTIONS: Read the passage and answer the questions that follow./ 331 fFafifed e # e yd® yges 39F
& T sgfamedt wxal & 9 fywey o1 999 F¥)

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

Td 9g Siifad a1 fHieiia avg § S JAFSTR) AT A BT TaTH R E! 81 TEE F 1Y WaR &1 3w BlaT @ | TR 98 WS R AT ¢ ol "
e <11 38T B 1 Pre (TSI GBI TH YHTS! TPbor # TS B3 ot uftear @ wit erafiy siar-anf & e gwsm & omar= g1 T

B 9 W, Uid G &1 et Anf @Fe) & areaw | ueH wdl §1 98 HIHH e, RNfee, aafeard, sraafaard ar 3 Amt o1
PIS YIS 8 Fobdl 81 WS B 3=Id: Uidhdi gRT U e fapifed &ors) o= forar wirar 81 afe 9ia A wewr Sfua < @ durR fear @, ot
UeHal B W= B A He 7 9agM A HIS guw 781 gl 81 3rd: Td (U=t FwherdT T iy, yraeat ¥ 39 e areht ufagfy
(PTSaDP) F YR W FAT 8| T8 WAy Faq JaR ThadT &1 9T B JE 09 39 iR YRR 9911 &7 TP a9 gial 8l

3= ® 3 @ wed, T g ufvawr emar @ R Td=r ware fpar wan 1 =R 9% Wgad WTT 81 g7 YA 4T AT, SER Bt gHTaRierdr & g
He sra=a Aequf giar &1

Source delivers the message through a:/ did P AW § H USH HdT
1. Source/ HAid
2. Message/ AW



3. Channel/ AT9H
4. Receiver/ Tt

Correct Answer :-

« Message/ B

5) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fufef@a M $ wFyd® ves? 3%
foa M sgfased uxml ® W fywe &1 T ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

W g Sfitfad a1 forelfa ag 8 S STHerRT ATE HI 61 W &= 81 81 981 § iy WuR &1 S¢H 8idT 81 WeRI 98 SHerR1 ’rd ¢ ford wariva
e o1 321 {1 P (TPIST) TS F1 W qHTS! TPl TS B3 o ufthar @ it iy siar-anf & fie qwem & omam= g1 dew
Fefafld 8l 91 W, Uid 1 &1 fHeft Anf @Fe) & areaw | ueH wd1 3| 98 HTHH M, RNfed, aafdard, sraafeard ar 5 Amt &1
PIS YIS 8 JobdT 81 WS B 3=Id: Udhdi gIRT W U faspifea (&ers) o1 forar wirar 81 afe 9id 3 Wewr Sfua < @ durR fear €, ot
Uehd] &I WS B fIhHEd B 7 UM & BIs TAT 81 gt 81 3rd: Wid U=t hadr &1 f~vfy, ureasat ¥ 39 fire= arelt ufegf®
(BTSS®P) F YR W FAT 8| T8 WAy Faq JaR ThadT &1 9T B Je 09 39 SR YRR 9911 71 TP a9 gial 2

3= ® 3rar @ wed, oy g ufvawr smar @ s wd=r ware fran wan 1 =18 9% Wgad WTT 81 1 g 4T AT, AR Bt gHTaRiedT & g
Fof 3= Agwyul gt B

Source gets back the answer from the receiver:/ @H,Wﬁlﬁfﬁwaiwﬁ WW%:

1. Feedback/ Wigs® (GAHARM)
2. Message/ B
3. Channel/ ATIH

4. Source/ A

Correct Answer :-

« Feedback/ BIE8® (YAa=M)

6) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: fufef@a e I wyd® ves? S9& R
fea m sgfased uxml ° 9 fywer &1 T ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

W g sftfad a1 felfa ag 8 S STeRT [TE HI1 61 T &= 81 81 981 | iy WuR &1 S¢H 8T 81 WeR 98 WHerR! 1T ¢ o) wariva
e o1 321 {1 BT (TAPIST) TS H1 WY YHTS! TP TS B & ufthar @ &t iy siar-anf & fie qwsm & omar g1 dew
Fefafld 8 9 W, Uid 1 &1 fHeft anf @Fe) & areaw | ueH wdl 31 98 UTHH M, Rfew, aafdard, sraafdard ar 3 Amt o1
PIS YIS 8 bl &1 WS B 3=Td: Uadhdi gIRT U Ud faspifea (&ers) w1 forar wirar 81 afe 9id 3 W S < @ duR fear €, ot
Ushd! &I WS B fIBHEd B 7 UM & BIs Tawr 78 gt 81 3rd: Wid u-t Ahadr &1 f~fy, yreasaf ¥ 3§ fres arelt ufogf®
(BTSa®) F YR R FAT 8| Tg Uy Haq JaR ThadT &1 9fpar B Je 0e 39 iR YRR 9911 6T TP a9 gial 2

3= ® 3i7aT @ weed, Forad ag ufvasr amar @ Rorad W= wer far man 21 918 98 wged YT 8 9T AT 9T W1, WAR 3 yyTaRidr ¥ g
ge sra=a AEaquf ghar &1

For the effectiveness of communication, the important element is:/ FaR &I YUTIRIAT & 1T Ag@yuf T 2:
1. Words/ Rleq
2. Context/ g



3. Sentences/ AT
4. Language/ T8I

Correct Answer :-

« Context/ g

7) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fufef@a M $ w-yd® ves? 39& -
foa M sgfased uxml ® W fywe &1 T ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Weg ‘FRAHIA B Al Weg ‘Frgfra A forar wan 8 gt aref @ <3ma a1 wrsm 9w |
TR g8 wfthar g o gRT & a1 siftes aafea sy, o, srgyferal, e, Weat, e, smaa anfe &7 3er-verd #3d 81

AqE®dt & T8 3U&T B w1l 8 7P T8 I srgaiial @1 ufaffie B ok I Jafeae qur Anfe® vATHEl & ATEH | WhadT B SHarsal
qP ugT & g ofva we

Y 66T B T B & FIY Aqeaspat T Falad | $T TGN SR Febdl § 98 & T4
9fer g Sitfaa wroft &, ora: 39 orum famr sirfirered v 3R gl & faamRy &t srftraafer g &Y sirazgwan gidt 21
3T TR T T DY I1 78T, A9 JHTS IR W & Taal-wadi gl

Communication is derived from a:/ maa»‘qh%?m, qa?_ﬁﬁ-mwél
1. Latin word/dfd1 Ws&

2. Greek word/ W& Wsq

3. French word/ %d T1sg

4. Indian word/ HRdI V&g

Correct Answer :-

« Latin word/@Ifa! Tsg

8) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: fraffa ez ot egd® vew 3% R
o3 T sgfased wxal ¥ O fawey o1 9w ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3l Aeg FRIHI B AfeT Weg wrgi~r F forar a8 e aref & <3ma ar [rgn a9 |
TaTe T8 ufthar & R g1 3 O eifte aafda famsy, awt, srayferat, s, wreat, fRmE, smai anfe @1 mer-yeM #d gl

Agcasdt A g7 e Bt el § 6 a7 oo ergaTRiaY &1 wfaffia wv ok 3% dufdas aur argfee vl & arerd & Fwadr @t SHargal
qe Uga & foe afva Y

Y Aed D1 UTW B & 1T Aqeacpd o1 Jaad TE BT WERT R Hdl § 96 & WA
fp 5w ofifaa uroft €, ara: g9 oM faaR sifiraraa w1 iR gl & faaRy o sifireafea wHg™ &t srazgwar gidl 21
31T 18 3 WS L T 781, AT JUTS R R & wadl-Gedr gl



A process by which two or more people exchange ideas, facts, feelings and information is called:/ a'z:uﬁ?m%

forad gr1 & a1 rfte safe famsy, aea, srgyforat, wrer, wreat, fel, smeia anfe &7 Ser-verd &3d 81
1. Adoption/ W&
2. Communication/ JWIN0[

3. Rejection/ 3Rai@id

4. Organization/ 76

Correct Answer :-

« Communication/ &Sl

9) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fufef@a M $ wyd® ves? 3%
fea m sgfasedt uxml ® w fywer &1 T ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Weg ‘FRAHIA B Afe Weg ‘Frgfra A foram wan 8 gt 3ref @ <3ma ar wrsnm 9w |
TR T8 wfthar g o grR1 3 a1 iftes aafea sy, ey, srgyferal, S, wreat, R, e anfe &7 3er-werq &3d 81

AqE®dt & T8 3rU&T B w1l 8 7P 78 I srgaRiEl @1 ufaffie By ok S Jufeas qur Anfe® ATl & ATEH | WhadT B SHarsal
qP UgT & e ofva 3

T 66T B T B & FIY Aqeaepat 1 Falad |IUH $T TGN SR Tebdl § 98 & FaR|
9fer g Sitfaa uroft &, or: 39 orum faar sirfirered v 3R gl & faamRY &t srftraafe we@ Y sirazgwan gidt 21
3T TR T T DY IT 8T, A9 JHTS IR W & Taal-5adn gl

A person is expected to motivate his/her followers and to reach heights of success is termed as a:/ 98 fed T Hgardm

3 o 9% srdan ot STt 3 % a7 o srgaTRal ot awadr 3t Sarsal a® ugda & fog Ufva a2
1. Master/ AR

2. Boss/ &9

3. Leader/ ¥l

4. Successor/ STRIUSRI

Correct Answer :-
. Leader/ Jdl

10) DIRECTIONS: Read the passage and answer the questions that follow./ fE=1: frafeaf@a meriw # wyde yes? su@
= fod M sgfawad v & O fawen &1 9u9 ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Ueg ‘FRAHIA B Afe Weg ‘Frgfra A foram wan 3 et 3rf @ <3mw ar s 9w |
TR T8 wfshar g ra® gRT 3 a1 iftes aafea sy, away, srgyferal, e, weat, e, smea anfe &1 3er-verq #3d 81

Aqcaddt T g8 YT Bt ST g FF 98 3ru ATt &1 ufaf+ifia $¥ 3R 3¢ Jufdas quT AT v & Hreay ¥ qhadr 1 SHargal
a% Ugaq & fag ofvd &

T 6T B I He & e Aqeaeat for Wl A1e @1 T 3 AT @ 98 8 AR



Hfe gw Sifaa wroht €, ora: 39 oA R sifiregea e ok gkl & Rt 9t siftraafaa Twe™ 3t smazasan gt 31
3TY A1R T TRI~G B AT AIEY, AT THTH TOR R 8 Badl-pedr g

A leader can achieve his goal by using:/ Aq@®di BT IUTNT B YT 98T YT HY el &:

1. Adoption/ i@fd
2. Communication/ JWNT

3. Rejection/ 3RAIHTA

4. Organization/ Ia

Correct Answer :-
« Communication/ ST

11) DIRECTIONS: Read the passage and answer the questions that follow./ 1E=1: fraffaa e ) coFyd® ygas Su®
2 fod T ggfawaht vl & 9 fawe o1 3 B

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3l eg PRSI B AfeT 2eg wrgi~r F forar war @ e ordf & <3ma ar wrgn a9 |
AR’ a8 ufthar & o gr1 & a1 aiftres aafad e, awl, srqyferdl, ST, wred), R, ermeia anfe &1 simer-ver #vd 81

Aqasdt A Tg 3l Bt it § 6 a7 oo SrgaTRRial &1 wfaffia w¥ ok 3% dufdas aur argfee waril & ATerH | Awadr # SHargat
TP UgT & fre dfa e

T 98T B U B & 10T Aqeaspal Forg alaw AT BT TGN X Gl ¢ 98 & S|
9 gu ofifaa uroft €, ara: a9 oM faaR sifiraraa wv= SR gl & faaRY o siftreafda wag™ @t srazawar gidl 21
31T 18 3 WS Y T 78T, AT JHTS AR R & wadl-Gerdr gl

Expression can be done by:/ Wﬂﬁ_mﬁﬁmﬂﬁﬁﬁ:
1. Living beings/ Sifaa wforaf

2. Non-living beings/ fsifa agaif

3. Both of the above/ IR I

4. None/ T8 7Tg!

Correct Answer :-

« Living beings/ Sfifaa wforat

12) DIRECTIONS: Read the passage and answer the questions that follow./ fE=1: frafef@a meriw # wFyde ves? sa&
H= fod M sl v # O fawen &1 9u9 38

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Yeg ‘HRHIA B Afe Weg ‘Frgfra A foram wan 3 et 3ref @ <3ma a1 wrsnm 9w |
TR g8 wfthar g R gRT 3 a1 siftes aafea sy, e, srgyferal, e, weat, R, smea anfe &T 3er-verq #3d 81



Aqaddl A g SMUET Pt Adl @ b a5 MU= ATl &1 yfafAfia o1 ok 3¢ dufdas auT Inffes vardl & ATed | awadl & SHargal
a% ugT & g dfva we

T 98T B U B F 1T Aqeaspal Forg alaw ATe o1 7GR X GPdl ¢ 98 & Sar|
Ife gu sifaa wroft €, ora: g oA faR srfirored a3 gkl & faY 3t sifiraafaa wwg™ &) smazasar it 21
31T 1R 3N TG L T AEY, AT JUTS IR R & wadl-GerdT gl

Human society thrives on:/ ATHd AT R Adl-EedT 8

1. Adoption/ W&

2. Communication/ FHYol

3. Rejection/ 3@ id

4. Organization/ &

Correct Answer :-
« Communication/ &Sl

Topic:- Child Care and Education

1) Lack of prenatal care does not increase the risk of:/ THd-Ud STUTH & HUTT I P WITad 8 9¢dT 8:
1. Infant mortality/ awiTd FRURR T
2. Premature birth/ W@fqﬁﬁ\_ﬂ?{

3. Child abuse/ aTd gfagR

4. Low birth weight/ S/ & THT a9 HH

Correct Answer :-

« Child abuse/ 1A gHagR

2) The ability to achieve a grasp of the nature, significance, or explanation of something and to have a clear or complete idea of it is known as:/ forsft et

ypfa, Trfean/srfyuiar, a1 saren # T U A SR SUS WY YT TYUF TH/SAURUT Ul HIA T TaT S el ATl 8:
1. Emotionality/ HTgehdl

2. Handedness/ 8¥d-UTYT=AdT

3. Understanding/ JHY

4. Feedback/qﬁg@ ('Fl'ﬁ@é?ﬁ)

Correct Answer :-

e Understanding/ 9HI

3) The functioning of ICDS is monitored by the:/ Hﬁ?ﬁ:‘ﬁw ¥ 1l P FART &' HI AT %:
1. Ministry of Child Development/ HT-d HH14= faeTg Harem

2. Ministry of Women and Child Development/ II'%T“IT T EINACEAR RN

3. Ministry of Health and Family Welfare/ TR Td TRAR FHeaTur BT

4. Ministry of Social Justice and Empowerment/?ﬂ'ﬂTm g Qa SfHTRAT v

Correct Answer :-
¢ Ministry of Women and Child Development/ q%?‘ﬂ g T fap™g Harer

4) The belief that inanimate objects have life like qualities such as thoughts, wishes, feelings and intentions is known as:/ g ﬁm fe ﬁﬁﬁa‘aﬁ&ﬁ ¥ Sl
Y 70T, S IR, $EOTE, YT Ud X1 &) TPhd &, FHgardT gl

1. Egoistic thinking/ 3EAATGH (WTIR®) feid
2. Animistic thinking/ G‘ﬁa?ﬂfﬁ IEGE]

3. Abstract thinking/ \’rmjfﬁfa:[

4. None of the above/g:fffﬁ Eﬁé:ﬁﬁ




Correct Answer :-

« Animistic thinking/ Sitaaral fidd

5) Which among the following service is not covered by the ICDS?/ E:Iﬁ F A AT Glﬁ?ﬁ_sﬁ"!ﬁ %?a?a :I'a 3Teit %?
1. Supplementary Nutrition/ Y T

2. Pre-school non-formal education/ l%?]'l?‘lq-tff G'I:ﬁ'q?ﬂﬁﬁ &T&[UT

3. Scholarships to meritorious students/ HeTaT fa@nft %ﬂ ﬁ'ﬁaﬁﬁjﬂ

4. Health check-up/ ¥dT®Yg foa

Correct Answer :-

« Scholarships to meritorious students/ yret faenffar %ﬁ @ﬁqﬁm

6) Legal age for marriage for a female is:/ faar %ﬁ ﬁrq'r@' @1 %ﬁl 3 %:
1. 18 years/18 EL
2. 19 years/19 EL
3. 20 years/20 EL

4. 21 years/21 EL

Correct Answer :-

e 18years/18 ?m‘

7) Which among the following can cause impairment during pregnancy?/ Sq'ﬁ ¥ P THITRT S a?ﬁ &fd T SR 9 FbaT %?
1. Use of drugs and medicines/ HATG®H Wﬁ@ 3NufRR T IuTNT

2. Certain infections/ $& B

3. Inadequate consumption of food and nutrients like iron/ Lﬁ\_rFlQa ?h_ﬁa'T GTI'I%W qdl BT I JTHTT

4, All of the above/G'lTéaﬁ It

Correct Answer :-

o All of the above/mﬂlﬁ

8) Developmental tasks are given by:/ forrarars srd I P GRT Yo %
1. Freud/EﬁEg

2. Piaget/ﬁ'q@f

3. Maslow/ﬁ,ﬁﬁ

4, Havighurst/%ﬁ?ﬁ

Correct Answer :-

e Havighurst/ W

9) Stories for young children should be:/ B T=i B ﬁ'lﬁ'!ﬁ - 'Ea:ﬂ il'l'[%"!l
1. Short and simple/m@ g

2. Based on fantasy, fun and humour/ m Iﬁ\_rf—rﬁ?‘ﬁ Td e R arytfea

3. Interesﬁng/m

4. All of the abovelmﬁiﬁ

Correct Answer :-

¢ All of the above/G'lT?iaﬁ It

10) Accordmg to the Article 21(a) of the Indian Constitution all children between which age group should be provided with free and compulsory education?/

F ITDE 21(a) b IR, 6w 3mg o F TIft T B Fr:gpew wa Srfvrard e § et =rfRee

1. 6-12 years/6-12 T¥



2. 5-10 years/5-10 99
3. 6-14 years/6-14 TN

4. 5-15 years/5-15 9Y

Correct Answer :-
e 6-14 years/6-14 Ty

11) Scientific knowledge about the behaviour of human beings in relation to other human beings is best imparted through the discipline of:/ amua@%uﬁ
UIW & HdgR | Tafta e g &t % fawg & A1egw | TaaH &7 R v fPar ST e:

1. Biology/ Shta-fag=

2. Sociology/ THISI-RIRA
3. Medicine/ fafdw fagm
4. Psychology/ ARSI

Correct Answer :-
« Sociology/ THISI-RIR

12) Which among the following organization in India focuses on the empowerment of women and girls as they are disproportionately affected by poverty and
discrimination, suffers from abuse and violation of rights, entitlements and access and control over resources?/ HIRd -] E"Tﬁ J ?ﬁ'-r-m '\"lTT?Fl &t Q'a'
FIfPT F TAfRTHIV W BHd Fal ¢, FifP 3 Frefar ga Aeura @ sarguifas w0 & yuifaa 8, 391 gafaer ¥, Ud Sy, ursarai,
T TP Ugd Td I R R0 & Ieeies S \iga &2

1. WHO/ S5, T4 31\,

2. CARE/ IR (M TR 3))

3. NCERT/ T1.81 3. 3R .

4. NIPPCD/ T 377S. Ut Tt T} €.

Correct Answer :-

« CARE/ PR FHTIRE)

13) Intensity of sound is measured in:/ af &Y digar &1 9= _ﬁ o sran %:
1. Cent‘imetres/@?ﬁiﬂa

2. Decibels/@?ﬂaa

3. Hertz/Ea'T;f

4, Milometers/qﬁﬁ";ﬁa

Correct Answer :-

. Decibels/@?ﬁaa

14) The process by which sperms and ovum fuse to form a single cell is called:/ J[$PT0] t{a 3{Us BIRADT S '\‘Iﬁ'ﬁ?_cl' 3-13?_{ Th HIRABT T BT uferar o)
____®EdEl

1. Assimilation/ STE-ITAG UG NEHRUT (@W)
2. Fertilization/ﬁ'a?l—"{

3. Mutaﬁon/@ﬁﬂ?‘h

4, Constitution/ 7o

Correct Answer :-

« Fertilization/ fSa

15) Which among the following body build which tends to be long and slender?/ Eq'ﬁ A g Tfi® Toq § dar @W'&?ﬁ 3l uqﬁr 1TI'Ié STeft %?
1. Mesomorphic build/nm‘?ﬁ (W) Rirk|

2. Ectomorphic build/ ('idlq)l?lw (QdCIHTme) Mo

3. Endomorphic build/ 3=t (Q_Sﬁﬂm) oA

4. None of the above/ $TH ¥ ﬁ—ic:l—iﬁ




Correct Answer :-

« Ectomorphic build/ TETHIAH (TaEHIT®) o

16) A condition in which the foetus or new-born has an insufficient supply of oxygen which can lead to brain damage is called:/ dg fRufy ford Faea ﬂ’rsg

# st ot amyfd sroafw gt 3 s o affass @ aifv uga
1. Anorexia/ 3FBTRIAE T AT (GRS

2. Anoxia/ SiaiTe-eftorer (gtfeRean)

3. Bulimia/ &R (Jeltfirm)

4. None of these/ TTH ¥ TS &l

Correct Answer :-

« Anoxia/ 3iTeiTor-efforar (q:rﬁam)

17) Unfolding of characteristics potentially present in an individual that comes from the individual’s genetic endowment is known as:/ foreht aafea & Tunfaa

U X IUFRIA T AFUaeon, ot 39 aafed & STgdiie o | 3d & ST UGS ST __ & ATH | ST SITal &
1. Learning/ 3ITTH (@)

2. Distinguishing/ faNa

3. Maturation/ URU®

4. None of these/ 378 T HIs g

Correct Answer :-

« Maturation/ PIRCEE

18) Fail-save and Zero reject are models of:/ m—ﬂ?&ﬂ Q’HQIBTI GIW'UT, & ﬁl’a’&f%
1. Mainstreaming/ J¥T YRT dam (ﬁq@&lﬂ)
2. Labelling/aw

3. Rehabilitaﬁon/g:fam

4. Intervention/ BXI&T

Correct Answer :-

« Mainstreaming/ T YRT & T (HREITET)

19) Which among the following is a not a type of articulatory disorder?/ E?'a' ke ﬁ?, TP YPIR BT SHRUMTHD foe= =|€|' %’
1. Omission/?ﬂtﬂ

2. Aphonia/ ¥Rl

3. Subsﬁtuﬁon/mﬂ:{

4, Addition/ Ae

Correct Answer :-

e Aphonia/ 3¥axdl

20) Psychologists call Early childhood age as:/ 'FFiﬁﬂTﬁﬁ’T MRS FTeaTaRiT g | - ﬁa %
1. Problem age/ THIHT 31

2. Pre-school age/ m—q\ﬁ (m—w S

3. Toy stage/ & e

4. Pre-gang age/ a?ﬁ—qé (m—ﬁ"l') S

Correct Answer :-

* Pre-gang age/ aFﬁll?f (l;ﬁ_ﬁ;l'[) 3

21) Defects with which children are born with are known as:/ T foF ﬁ'ﬂ’f & Y & A %3% __ gl Idl %:



1. Acquired disabilities/ 3ffoid W

2. Congenital disabilities/ STHSITd KIRCSEIY
3. Natural impairment/mﬁv_ﬁﬁ; &‘ﬁUTaT

4. None oftheselg:fﬁﬁ ﬁé?‘sﬁ

Correct Answer :-

« Congenital disabilities/ TSI 3R

22) When pressure is applied on the infant’s palm by placing something on it, she curls her fingers around the object. This reflex is known as:/ STd HduiTd @t

AN W 8 TEHT I W 9 T S48 a7 98 U1 R[ferat 39 avg & 5d-Mid @ie Aar 2159 ufaad / wfaadi ot &Y ___ wer wirar 81
1. Rooting reflex/ J@AIT (FfeT) Ufdad

2. Grasping reflex/ U8} (AR Uferad

3. Moro reflex/ TRI Ufaacd

4. Babinski reflex/ STfa=eb! Ufcad

Correct Answer :-

* Grasping reﬂex/‘JI'I_Eﬂ ('a'@"'f) Dﬁfﬂ‘f

23) The basic unit of heredity is:/ STl 3l STYRYd 37*’1% _%ﬁ
1. Chromosomes/ T[UR_IA

2. Gene/\_rﬁ:T

3. DNA/ ST

4. Zygote/ gTHAS

Correct Answer :-

. Gene/\_rﬁT-T

24) Which among the following refers to a diseased or a defective tissue or a part of it?/ E:I'ﬁ fogeT arf fopelY I ar e HdP AYdT ITP TP
YT A T 82

1. Impairment/ &ﬁvﬁﬂ

2. Disability/ 3RIa&ddl

3. Handicap/ﬁﬁ'i”'l?ﬂ

4. All of the abovelm Tt

Correct Answer :-

¢ Impairment/ efforar

25) Which among the following term is used to refer to the new-born baby in the first four month of life?/ mﬁmaﬁmaﬁm%mmnﬁﬁsﬂﬁﬁ
TP A1 82

1. Foetus/ TIWQITZJ

2. Neonate/:i?ﬁﬂﬁfﬁTQ]

3. Embryo/ YUr

4. None of these/ 378 I H's g
Correct Answer :-

« Neonate/ T R

26) IEP stands for:/ enéétﬂ DT QRT ATH %:

1. Individualized Education Program/ $8 1A 3(aTSes UM I (dufdaard fRiefor srishd)

2. Integrated Education Program/gipfaé_s'w IEIEE (ﬂﬁm Rreor m

3. International Environmental Program/ E;CH-‘QHN Q*dliN'i-l‘Cﬂ Eh'ﬂ'l'q (W@HW ?ﬂﬁaﬂ:{)
4. Individual Education Pattern/ SaITaq3fd Tojd = U (qafadds fRI&M HrishH)




Correct Answer :-

« Individualized Education Program/ S8 TIqSIATSES TSdb R TRIH (m fRreror wRigH)

27) According to the Juvenile Justice Act a ‘child’ means a person who has not completed/ﬁﬂ{ﬁ? =g fufraa & SYNR, T BT \’rl"t’f@ e %
et emg APAE:

1. 16 years of age/16 G
2. 17 years of age/17 G
3. 18 years of age/18 T

4. 21 years of age/21 T

Correct Answer :-

e 18 years of age/18 EL

28) 3 R’sin nursery school education means:/RI<} faemerd! fR1am # 3 r's &1 A ?:

1. Reading, Recitation, Reaction/ Sf&T (U@, TATSeRH (¥R Ure), Ruaer @fafspan)

2. Reading, Writing and Arithmetic/ & (Tem), IsfET (e ok sifaifees (siwmfor)

3. Reading, Racing and Resting/ SI&TT (I, IR (@), iR IR (Fasm)

4. Reading, Recitation and Recreation/ TS (T, TS (IR UTS) Td b UM (AH-98ama)

Correct Answer :-

« Reading, Writing and Arithmetic/ STET (m),ﬂgﬁ'ﬂ (ﬁ“l@?[) 3R afAfes (GHO_‘Tfﬁ'IT‘T)

29) Play in which young children play independently beside other children is known as:/ d& aﬂ@n e Bt 7= oy T & U § Wad FU Y Qad %,
K|

1. Parallel Play/wm
2. Solitary pIay/QWEfﬁST
3. Exploratory play/ ﬁtﬁm

4. Day dreaming/ f&arey

Correct Answer :-

e Parallel PIay/W’iﬂTaﬂEﬂ

30) UNICEF stands for:/ Zf-1aW (JEASTEHIETE) BT GRT AT &
1. United Nations International Children Entertainment Fund/ g 3%3 ErE 3’32213 RN ﬁl@:f U e He

2. United National International Children Entertainment Finance/ 3%3 ﬁws’aﬁz I %1@:! q'aqé:{ﬂa m
3. United National International Children Entertainment Funds/ 1 3%3 WQ’EQQ 1q a@,ﬂ q’aqéqﬂ'e W
4. United Nations International Children’s Fund/ g 3%3 ﬁwg’azfm ] a@r‘a He

Correct Answer :-

« United Nations International Children’s Fund/ JT3¢ S AR $CX-RM faee -~ W

31) Which among the following is a type of associative learning?/ 37{& Ear '\%‘ﬂ SrftRT @mﬁ'm DT TP UPIR %?
1. Trial and Error/ W—gﬁ

2. Classical conditioning/ RRUTIST UG A (FATRIG A BRI
3. Cognitive learning/ TTTTE® SRTH (BT @)
4. Instrumental condiﬁoning/ﬁ?ﬂ'qu (ﬁ\ﬁ?ﬂmﬁ"'{)

Correct Answer :-

« Classical conditioning/ RRUATRA U@ e (@@ d drel=I=)

32) Operant conditioning was propounded by:/ m’lw LIGCEE) yferare g1 fopar war ot



1. Pavlov/ﬂ?ﬁ'ﬁa

2. Skinner/ PR

3. Piaget/ﬁq\_}l

4, Thorndike/ Uﬁ@ﬂﬁ

Correct Answer :-

. Pavlov/a?ﬁﬁfi

33) Which among the following is the correct full form of ICDS?/ an:{?ﬁﬁw Cal '\‘I?f RTAH Sﬂﬁ J AT %’

1. Integrated Children Developmental Scheme/ édﬂl‘/{ds &IQ’§H SddyHcd Wﬂﬁ( IAfed a1d fae™g qﬁ?ﬁ:n)
2. International Child Development Services/mm@ﬁw mﬁf (WWW m
3. Integrated Child Development Services/ IS I3 Saaudic gfaaw (@ﬁﬁ EIGAEERE m

4. International Child Development Scheme/mmm B (a-i?m‘@u EIGAGEAR W)

Correct Answer :-

« Integrated Child Development Services/ S¢S TT3TS SaaTHC TIGav (JRfbd aTet I JaTg)

34) Which among the following is a residential institution devoted to the care of children whose biological parents are deceased or otherwise unable or

unwilling to take care ofthem?/ﬁﬁﬁaﬁqwWW%@@W?%WW%WW%W%W-WWH}W@%W
fire 3 1 T@uTa FA B sramd a1 ¥ arfereg e &

1. Day Care Centre/ faeii C@YTA H% (éwm
2. Creche/ T (UTTHT-SR/RIHGE)
3. Orphanage/ SATTAT

4. None of the above/%ﬂﬁﬁ ﬁ'sc:ﬁf

Correct Answer :-

e Orphanage/ 3TYTTT

35) If a child does not follow a moving object, does not reach for toys and things held in front of him and has a tendency to bring pictures or books very close to

his eyes, he might besuﬁerlngfrom/qﬁaﬂgﬁmmﬁ quﬁm% aa%?vmﬁurﬁwfﬁﬁqaaﬁ W"JEEI%TIT
I UHS BT YT T8 Bl §, aﬁ?wﬁﬁﬁmmaﬁmm%a@ammﬁaﬂm%a}ﬁ { Hifsa & awar 21

1. Hearing impairment/ 4dUl efforar

2. Visual impairment/?fg &'ﬁ'U'IT‘IT

3. Neurological impairment/?‘iﬁaﬂ'q &f’rm?n
4. Mental retardaﬁon/qﬁm Hadr

Correct Answer :-

« Visual impairment/ P &fforar

36) Which among the following does not hold true for emphasizing the significance of Nursery School Education in India?/ HIRd s | qﬁ ﬁﬂ'ﬁﬁﬂ ﬁT&ﬂ *®

A W §9 ¢ & Y 399 @ o9 9 181 32

1. The rate of development is so rapid in pre-school years that child can be given more and more experiences/ﬁw-llé (Cﬁm gy # faerg &t 33 3(_‘1'_‘1 GE|
B B 1 o= 1 iftrepiiies srva fou o ged §

2. There is tremendous wastage and stagnation in India in a Class | and Il which can be prevented through Nursery school education/ YRA H HET1 33? 2|

SRD 3T T TRy § Forgest e faemerdt e 3 Aiemm A Aepur B o Febelt @

3. Nursery School Education emphasizes the introduction of concepts at such a young age that children may tend to forget them when they grow older/ :l?i'\ﬁ

e e gt ereurg B SrauRomS ¥ ufed R 9d <t § 6 7= 98 819 R S YT @

4. The provision of Nursery school education is a social and economic necessity as many mothers go out for work and there is no one to take care of small children
at home/ T} faerTarelt fR1em &1 WTa U e qrmnfies Ud onfier siaxadsdr § Fife agd I AT ST TR 916R oTdl 8 SR R § sl &1 3aqTe & fo

Correct Answer :-

* Nursery School Education emphasizes the introduction of concepts at such a young age that children may tend to forget them when they grow older/ 7‘1#@

foremerft Rien gt srearg & srayRonst ¥ uled R 90 3t § % o= 98 81 IR IT Yo A g



37) Development that comes through exercise and effort is termed as:/ SATATH TG YT & HTHH § ﬁﬁ arar faerg __ Pgdrdl %:
1. Maturaﬁon/qﬁtmﬂ

2. Heredity/ SRITGTAAT

3. Learning/ 31T (@f+m)

4. Practicing/ T

Correct Answer :-

« Learning/ ST (?Iﬁ"'f)

38) Mechanical action of the middle ear is converted to electrical signals with the help of:/ AP BI gifdw fpar ol GEHEGH J agu?r bl A
o ot g1

1. Vestibular mechanism/ WET0T (3REeR) FTaat

2. Auricle/ STRIG U/ (ke

3. Cochlea/ HUTAd (P ITaeTam)

4. Malleus, Incus and Stapes/ T9-T5R (AfeT09), RIUT (376 9) T4 IHTT (W)

Correct Answer :-

. Cochlea/w (WT)

39) Composite Regional Centres for Persons with Disabilities functions under:/ it feai waifea g‘ﬁh g (il'Tlﬂﬁrl'C Ao Jef vk R fag
feafsfadien ¥ siavia #1d e 71

1. Ministry of Rural Development/‘JlTIﬂUT foer Hareg

2. Ministry of Social Justice and Empowerment/ﬂ'l'q'lﬁ‘l?ﬁ T g SHTIHTIRAT HATTT
3. Ministry of Education/ EIREEISE]

4. Department of Disability Affairs/ feagior o fgumr

Correct Answer :-

e Ministry of Social Justice and Empowerment/“ﬂ'lﬂ'lﬁﬁ? g qa B TIRAT AT

40) Tendency to ascribe consciousness to inanimate objects is known as:/ foreifa aﬁaﬁ J A1 e fd wA P m Ea| _%5=|T=r J ST ST %:
1. Egocentrism/ 3B ISdHdl A bl (TRTCTH)

2. Animism/ Sitaarg (TRfE)

3. Self-esteem/ HTHIFHTT

4, Socializaﬁon/ﬂ'l'q'l\_rﬁWUT

Correct Answer :-

« Animism/ Si@arg (qﬁﬁ[m)

41) An adolescent belongs to which stage of play development:/ ﬁﬂﬂ?, aﬂ?ﬂ-ﬁm P fop sraw o '5'-1% %?

1. Exploratory stage/ 3} SR

2. Play stage/ﬂ'ﬁET AR

3. Toy Stage/@f‘ﬁ:ﬂ AR

4. Day dream stage/m AR

Correct Answer :-

e Daydream stage/m SARIT

42) Which among the following is related to providing protection and child rights?/%qﬁ GEaC &1 Ud 9T SMRUPR W= FA | Hafta %”
1. The Juvenile Justice Act/m?m s

2. Child labour (Prohibition and Regulation) Act/ §TcT 4H (ﬁ'&ﬂ@ ﬁ'qTFf) Sy

3. The Right of Children to Free and Compulsory Education Act/a?cﬁ Cal ﬁ:WQﬁi fard e o1 aiftpR 3w



4. All of the above/E’C@aﬁ gt

Correct Answer :-

« Al of the above/ Iudad Tt

43) Threadlike structures that contain the genetic substance DNA are:/ q yrY S I o @Q"TQ' ATHS G-I'I'ﬂﬂﬁ'l'fb' W"’fam %, _Wﬁ‘ﬁ %
1. Genes/ KiE|

2. Chromosomes/ T[UIRLA

3. Heredity/ SRITGTAAT

4, Environment/mfaTUT

Correct Answer :-

» Chromosomes/ JJURTA

44) Behaviour that fails to conform to social expectations due to ignorance of social expectations is known as:/ qTHTS arﬁanaff | SIH%'FHT & BRI
et 3rdemait & srqura- # fawd ve ard wasR & % T ST o g1

1. Moral behaviour/ﬁm dgR

2. Immoral behaviour/ 3Afas (Sm dgR

3. Unmoral behaviour/ﬁﬁﬁ? (&HW) YdgR

4. Non moral behaviour/ﬁ% (qﬁ-m YdgR

Correct Answer :-

« Immoral behaviour/ 3T (FFHRT) SHIER

45) Which among the following is the full form of AIDS?/ TgH (Q'G-I'Ié_éf'mﬂ) Ca) Hﬁ WRTATH ET'Tﬁ A P97 %?
1. Acquired Immuno Diseased Syndrome/mm mm@ﬁ

2. Affected Immune Disease Symptom/ W@'W%@ﬁﬂ Ry

3. Acquired Immuno Deficiency Syndrome/msjﬂ:h W ﬁl@'ﬁ

4. Actual Immune Deficiency Syndrome/ Qﬁﬂ%%‘@?ﬁ @ﬁ'?ﬁm?ﬁ ﬁl@ﬂ

Correct Answer :-

* Acquired Immuno Deficiency Syndrome/@l’q—gs@ﬁ SR ﬁi@'ﬁ



